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But we have determined that a witness cannot become a
judge?! This is valid only concerning ;790 issues etc.

OVERVIEW

There are certain texts which add a question and answer on the 7"n who
maintains that 77 7wvi1 79. Those texts read: »"7 ,1°7 7wWY1 79 PRT 2P XM
T WY1 7Y 132777 2R XN IRT2. Then the X713 resumes by asking (as is our
X07°3) on the 17 AWyl ¥ 1R 7"72. However *"w1 and N5010 do not include the
question and answer on the 17 7wy 7V 7" in the text of the Xna.

- 1Y P 1Y 9993 Y 7Y
"'w does not include in his text the phrase: 121 17 qwy1 v PRT 2"p X'
and he is correct in deleting this phrase from the text -

- 9YDAY 759975 12T WY 1Y PATAT KVIWAT 11D

Since it is obvious that concerning rabbinic issues a witness may act as a

judge in the same case in which he is testifying as the X 3 subsequently

asks. The X3 will soon ask; how can we maintain that concerning 1'92 we say TV PX

17 7wy1?! This cannot be for 1312972 the rule is 17 nwy1 7v! It is evident that the Xn)
takes it for granted that 7°°7 7wy1 7v 1312772 If this is true, then -

- 1927 AUYY Y PNT YT KD NN NIPIYNI 799 990

How can the X n3 ask initially, that our presumption is that 7w 7y PR

19372 These are two contradictory presumptions!

mooIN anticipates a possible answer and rejects it. Perhaps when the X723 stated originally
77 AwYI Ty PR 9P R, we thought that our case here, namely saying 1"92 for a v3, is a
XN*9XT situation. The X3 then responded 17 AWy 7Y 1312777 22K RN»RTA 2'"7 informing
us that 1"92 is a 7127 situation. Therefore the X 13 asks 17 WY1 7¥7 1312772 2™p &M, since
the X3 already realized that it is only a 73277. N190IN rejects such an answer out of hand.
= ROIINT M NINT PHYT XPUO NIT XUV N1
For it is certain that the X3 did not entertain the thought that here

(saying 1"92 in the presence of a 7"°2) it iS a NNYMIRT. Everyone is aware that
saying 1"91 is merely a 2°»21 NN, not a 7N 7 at all. Therefore we cannot be 0713 here
107 w1 Y 7PRT 9" XM for this is in direct contradiction to the conclusion of the X773

!'See 1103 *00 7" "W,
* See ‘Thinking it over’ # 1.
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which states "7 AWY1 TYT 112772 5™Mp XY

moon will attempt to justify somewhat the X073 of '1>7 Aww1 7 1PX7 2" P X' even though
it contradicts the subsequent '2"p".

- A% P PNYP YO (0 9 MAINIT NP P93 1791)
However in the first P92 of ni2wn> there is something similar to this

situation; where the X3 first assumes a certain attitude, then immediately reverses its
position and assumes the opposite to what it originally suggested. This is -
- 151 52 HYT HY NN 195201 1O 99 2)
Regarding a minor (child in the process of becoming a) =a. His mother
brought him to 7"°2 to be 7. Since he is not a n¥7 72 yet, the 17 is that we
are 92w the child for mn, relying on the consent of 7''53; they are his
surrogate father -
= 9995 19392 NOW DIND 1991 X221 )0 ¥1YN XP NN 7599
And the X ) asks on X177 270 the author of this statement; what is he
teaching us?! We have learnt this in a 712%; one may make a beneficial

acquisition for a person even not in his presence etc., and without his
knowledge. The acquisition is valid as long as it is beneficial to the recipient, even
though he is not aware of it. Here too by m7°1 we are making an acquisition for the child
1°192 KW, since he is not a NYT 72 to be aware of what is occurring. We are ‘acquiring’ for
him a Jewish status which is beneficial to him. What can be more beneficial than being a
Jew?!
It is obvious that at this point when asking this question the X773 presumes with certainty
that it is definitely beneficial to the child to be 77 him.

£ NN RIPONA T2y INTIT )Y NP NN 7299 919)
And subsequently the X7n3 refutes this (challenge to ¥17 21)* by saying

that we have determined that a slave certainly prefers the free life style of
an 72y to the more restricted life style of a %% w».> There is now an opposite assumption;
that for a non- Jew, becoming Jewish is not considered beneficial from his perspective.
We see that in the same X713 there are two opposite assumptions as to whether becoming
Jewish is to be considered beneficial from the perspective of the non — Jew. Therefore we
can perhaps justify the X07°) of 17 nwy1 7 PRT H™p XM even though it is in contradiction
to the conclusion of the X3 that 17 7wyl 7v 132772, It is possible that the first 2"p &
disagrees with the second 2"p R.

? This indicates that it is not completely identical. See ‘Thinking it over’ # 2.

* See X"w1m who claims that Mmoo had a different X073 in N0 concerning this 121 °R717 2">p &

> We would think therefore that by this Jup 73 it is also considered a 211 rather than a m>T to be 7.
Therefore 81177 21 teaches us (there) that only by an 9173 72v that was X027 XYy DV is it considered a 211
to be 7»ann. However by a jup 7a it is considered a nio7.
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SUMMARY

We are not 03 the question and answer of 2" ,1°°7 AWyl ¥ PRT H'™p XM
"3Y XN IRTA. There can be no 2"°p that 17 7wyl 7v X by the saying of 1"53,
since the entire requirement of saying 1"92 is a 112771 1°7. We have a 7'"p that
7 7wyl 7Y 132772 It is not credible to have two opposite 2"p R,

There is however a similar situation in M21n2 where we find two opposite
presumptions in the same X773, concerning whether m7°3 is a M>7 for a non-
Jew or not.

THINKING IT OVER

1. We find many times that the "7 and X1p0n of the X3 disagree totally.
Why does mooin find it unusual® that the X"37 maintains 7 WYl 7Y PR and
the X1p0n maintains that 77 AWyl 7v7?

2. Can we differentiate’ between our X 3 and the X3 in M2N> which
nmooIn cites?®

6 See footnote # 2.
7 See footnote # 3.
¥ See (IXTMM WD) 7172 MK,
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